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Esercizio 1

Calcolare

/x\/ﬂdxdy
E
doveE:{(m;y)65&2:0§x§1,0§y§\/1—x2}

Esercizio 2

Calcolare

/ zeVdxdy
E

doveE:{(m;y)eﬁFEQ:Ogygl,ngg\/1—y2}

Esercizio 3
Dato D = {(:r,y,z) eRB:0<z< 1;z+\/§§y§1;0§z§1} e f:[0;1] — R continua,

dimostrare che

1
/Df(y)dxdydz: %/ t3f(t)dt

0

Esercizio 4

Calcolare
/ (2* — y?)dzdy
E
dove E ¢ il parallelogrammo di vertici (0,0),(1,0),(2,1),(1,1).

Esercizio 5

Calcolare
/ z(y + z)dzdydz
E

dove E é il tetraedro di vertici (0,0,0),(1,0,0),(0,1,0),(0,0,1).

Esercizio 6
Calcolare il volume D = {(z,y,2) € R3: 22 + y? < L;2? + 22 < 1},

Esercizio 7
Calcolare [}, y3e®dxdy con D = {(m;y) ER?:y>0,2<1,2> yz}



Esercizio 8
Calcolare [, zydzdy con D = {(a:;y) eERixt+y>1,224+9y2 < 1}



